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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 Change 530 centimetres into metres.

o —> M

-
=00

S’YE.BAOJ T\OO - 5 \?) 6 : 5 ........... metres

(Total for Question 1 is 1 mark)

. o1
2 How many minutes are there in 3Z hours?

Taard ang @Qm‘\r\ . \Y\owr);

A (Dl'%m.\?’\ o l/q\(\mbf. ! %3
S[QOMIN = Zhowt
[80'{"\5: l'qf) ............ qu ............... minutes

(Total for Question 2 is 1 mark)

3  Write 4.4.}34 correct to 2 decimal places.

5 =S “m&kﬂd\w

4 Write 0.9 as a percentage.

MC&MQ&@ / 0 -&O}x/oo': 90

X100
________________ 90w
(Total for Question 4 is 1 mark)
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5 Work out (-3)°
- _'3 x -3 ><—'3>
@ x -3 = -L++
%
e ey = RS -1

(Total for Question 5 is 1 mark)

6 Here are four cards.
There is a number on each card.

ONOT WRITE INTHISAREA

(a) Write down the largest 4-digit even number that can be made using each card only once.

w\\L\A,S’ch Qor &
4% endon L

(b) Write down all the 2-digit numbers that can be made using these cards.
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(Total for Question 6 is 4 marks)
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7 The table shows information about the sports some students like best.

Hockey | Tennis | Football Golf

Boys 3 8 15 9
Girls 6 14 7 1
Draw a suitable diagram or chart for this information. D el EO%S
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(Total for Question 7 is 4 marks)
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8 Bernard says,
“When you halve a whole number that ends in 8, you always
get a number that ends in 4”

(a) Write down an example to show that Bernard is wrong.

Alice says,
“Because 7 and 17 are both prime numbers, all whole numbers that end in
7 are prime numbers.”

(b) Is Alice correct?
You must give a reason with your answer.

13-3=9

ONOT WRITE INTHISAREA

............... NG 1S ot pame. unberT
M)

(Total for Question 8 is 2 marks)

9 Work out 247 x 63
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(Total for Question 9 is 3 marks)
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10 An American airline has a maximum size for bags on its planes.
The diagram shows the maximum dimensions.

height
22 inches

v:icl?’ A/dvepth
14 inches 9 inches

Chris has a bag.

It has
height 50 cm
width 40 cm
depth 20cm

1 inch = 2.54cm

Can Chris take this bag on the plane?
You must show your working.
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(Total for Question 10 is 3 marks)
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11 Complete the two-way table.

m blue eyes brown eyes | green eyes total

g -5-4

E boys 3 5 3 4 12

B , (=S _ 4-4= -12=18
z girls - 6 7 5 IR 30

H 1D -

=t total |3 : NEEE 10 9 30

= \

%

O

(Total for Question 11 is 3 marks)

12 There are 28 red pens and 84 black pens in a bag.

Write down the ratio of the number of red pens to the number of black pens.
Give your ratio in its simplest form.
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(Total for Question 12 is 2 marks)

Pearson Edexcel Level | /Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set | - September 2015 © Pearson Education Limited 2015



PhysicsAndMathsTutor.com

13 Here is a sequence of patterns made with grey square tiles and white square tiles.

pattern number pattern number pattern number
1 2 3

(a) In the space below, draw patte imber 4

(1)

SHANED

(b) Find the total number of tiles in pattern number 20

7 0 whke gquanes
20+72 =00 grey
0 A0=%r L 42 ________________

R

I
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(c) Write an expression, in terms of n, for the number of grey tiles in pattern number 7.
3, 4.5
\
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345
L3
222 -

(Total for Question 13 is S marks)
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14 A unit of gas costs 4.2 pence.

On average Ria uses 50.1 units of gas a week.
She pays for the gas she uses in 13 weeks.

(a) Work out an estimate for the amount Ria pays.

4.9 x 50. 1 x 13
w L4 X 950 x 10

N 2000 p

)NOT WRITE IN THISAREA

(b) Is your estimate to part (a) an underestimate or an overestimate?
Give a reason for your answer.
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(Total for Question 14 is 4 marks)
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15 This is a scale plan of a rectangular floor.

1 Lo

Diagram
accurately
drawn

4 om

Scale: 1 cm represents 2m

Mrs Bridges is going to cover the floor with boards.
Each board is rectangular in shape.

Each board is 1.2m long and 1 m wide.

Mrs Bridges has 150 boards.
Does she have enough boards?
You must show how you get your answer.

_ | & O
211920

|50 160, thore & not @m@\r\ Doy

|60 boords

(Total for Question 15 is 3 marks)
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S )
E 16 2cm

[ L]

=

z R AL v

B 4

::—Z:: ‘ 2cm

g 0 L

= $om

g

i]iE]i Work out the area of the shape.

o _ 2
2| Ao 1= 10x2 = A0om

A@Q%fl: bx 2 = 1Lom?
20 +12= 30w’

To tal =
........ %2 cm?
(Total for Question 16 is 2 marks)
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On the grid, rotate the triangle 90° clockwise about (0, 0).

(Total for Question 17 is 2 marks)
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18 There are 500 passengers on a train.

7
0 of the passengers are men.
40% of the passengers are women.
The rest of the passengers are children.
Work out the number of children on the train.

Nognbor of men. © 3 508 = 320 = 125 nen
W0 2

THVSIHLNI TLRA IONOG

Nurnbex of werean: — 407- of 500
A w50p - 200women

Number of chlran = S00 -200- (75
0~ =125

U

(Total for Question 18 is 3 marks)
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19 A shop sells milk in 1 pint bottles and in 2 pint bottles.

Each 1 pint bottle of milk costs 52p.
Each 2 pint bottle of milk costs 93p.

Martin has no milk.

3 . .
He assumes that he uses, on average, 2 of a pint of milk each day.

Martin wants to buy enough milk to last for 7 days.

(a) Work out the smallest amount of money Martin needs to spend on milk.
L You must show all your working.

g _% x P = 2} - 5.5 pinks
T 276 pnks naodil

WRITE IN THISAREA

2 X3 = 6N
3xA3= 239p = £2.79

St

Martin actually uses more than % of a pint of milk each day.

S
S

55
55

s

- ‘.si
55

(b) Explain how this might affect the amount of money he needs to spend on milk.

.............. Hemxgv\ft we to puy more |, but i the
OUNK & stlh X tnan. Gpings, he wouwld
.......................................................... St hawe EL-F9

(Total for Question 19 is 4 marks)
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20 The diagram shows a right-angled triangle.

Tx 5x +18

All the angles are in degrees.
Work out the size of the smallest angle of the triangle. . -
aNna(gs f\‘{f‘ﬁaﬂg(Q adoal
2 +5x +1R = (8O J g -
90 + Ul Y to 130 2,130 -90'=qp

\Lac= ) _qlg

X =~ go 17

5x6 .
Ex+18 = 20+ (82 48

Jac = 420

(Total for Question 20 is 3 marks)

21 A box exerts a force of 140 newtons on a table.
The pressure on the table is 35 newtons/m?>. F
p=—
Calculate the area of the box that is in contact with the table. 4
_ p = pressure
- F = force
,Qc_‘o‘s —A-' A = area

U
bm™
(Total for Question 21 is 3 marks)
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22 There are only red counters, blue counters, green counters and yellow counters in a bag.

The table shows the probabilities of picking at random a red counter and picking at

<

: § : random a yellow counter.

: < :

A

E Colour red blue | green | yellow

% Probability | 0.24 o 216 032

é

g The probability of picking a blue counter is the same as the probability of picking a green

S counter. Dl = Srf-m(\

é Complete the table. kS G- | —0-24 20.7¢
= LA X402 +0-32 = | 0-76-0-32204¢

WWWWWWW N
Tx = 0-44 propopl Ty

\ = \
o :\/O~ ) 0405 0

(Total for Question 22 is 2 marks)

23 A pattern is made using identical rectangular tiles.
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24 The diagram shows a sand pit.
The sand pit is in the shape of a cuboid.

Sally wants to fill the sand pit with sand. 40cm
A bag of sand costs £2.50
There are 8 litres of sand in each bag.

Sally says,
“The sand will cost less than £70

Show that Sally is wrong.

g
MSX@%x§8:1AQOdDUW

3 (knes = 30O
240,000 = 9000 = 30 bags needed

30 boge cost - 20%2°S
- 6o+ 5 =179

135 >7%
E>\NWQ3

(Total for Question 24 is 5 marks)
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25 Four friends each throw a biased coin a number of times.
The table shows the number of heads and the number of tails each friend got.

Ben Helen Paul | Sharif

heads 34 66 80 120

tails 8 12 40 40

The coin is to be thrown one more time.

[ WRITE INTHISAREA

&
:]:%]: (a) Which of the four friends’ results will give the best estimate for the probability that
""" the coin will land heads?
Justify your answer.

DO'!

Paul says,
“With this coin you are twice as likely to get heads as to get tails.”

(b) Is Paul correct?
Justify your answer.

Showif - heodsS - 120 _ 1

tals ~ 40

A
0
g
- " .
%
>
g?

(s

53

S%elels}
!
2055

o
o

<
s

FEERS
s

<

The coin is to be thrown twice.

(c) Use all the results in the table to work out an estimate for the probability that the coin
will land heads both times.

Totah heads= 34 +66+80+120
= 360
Totoh talls = g4+194 40+ 40

b —

~ = 0O 9

Pt H g l 6

R ( (H 3 - R 1 W

- P(Reads)= 200 =3 fLh+ Sx3 =

= e F Quesion 351

P (Total for Question 25 is 5 marks)

o
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26 (a) Write down the exact value of cos30°

Jé

(b)

12cm

30°

xcm

Given that sin30° = 0.5,
work out the value of x.

S o= OB
v\t\p
SN0 =

X

g

1)
ILx05= = §

(Total for Question 26 is 3 marks)

27 Expand and simplify (x + 3)(x — 1)
NS

L

x b -t 3 S

:Ll-\- /Ll.’\?)

I

(Total for Question 27 is 2 marks)
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28 Factorise x*>—16 & O\&fw % ?_S(LW'JJ‘QS
Jig = t 4

(Total for Question 28 is 1 mark)

29 Solve the simultaneous equations

| 4x+y=25 X3
2. x-3y=16

@ |13Q+33::1’5
DQ"%U\:\E +

ONOT WRITE INTHISAREA

13x = 9]
- (3
x = -+
QOLU\@ 7"’343:[@
-

R
‘j‘«‘:% N T

(Total for Question 29 is 3 marks)
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TOTAL FOR PAPER IS 80 MARKS
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